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	1. Sam is building a table for his patio. He wants the radius to be 3 feet. What is the circumference of the table?

a. 18.84 ft               c. 6 ft
b. 9.42 ft                 d. 177.47 ft

	2. The rectangles below are similar. Knowing this, find the value of x.

[image: image95.emf] 

a  

30.6 cm  

34 cm  


a. 3 m

b. 2.67 m

c. [image: image96.emf] 

2 m

d. 1.8 m



	3. If each side of the second rectangle is twice as big as the first, what is the area of the second rectangle?

a. [image: image97.emf] 

92 ft²

b. 96 ft²

c. 192 ft²

d. [image: image98.png]


28 ft²


	4. Tom needs to purchase a ladder long enough to reach his roof.  He wants to spend as little money as possible.  The shorter the ladder the cheaper it is.  What is the shortest ladder he could purchase assuming the base of the ladder will be 4 feet from the house, and the roof is 12 feet high?

[image: image99.emf]   


a. 48’

b. 13.27’

c. 12.4’

d. 12.65’



	5. Todd is having friends over and wants to make cookies.  The recipe calls for 3 eggs to bake 24 cookies, how many cookies can you make with 4 eggs?

a. 18 cookies           c. 25 cookies
b. 38 cookies           d. 32 cookies

	6. What is the area of the portion of a basketball court with the given dimensions? 

[image: image100.emf] 


a. 300.59 ft²

b. 452.16 ft²

c. 1296 ft²

d. 272.52 ft²



	7. How many milligrams are in 3 kilograms?

a. 30 mg                  c.  30,000 mg
b. 3000 mg              d.  3,000,000 mg

	8. What unit conversion factor would be used to figure out how many feet are in 3 mile?

a. 
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	9. Derek traveled 300 miles to LaGrande, OR and back.  It took him 7 hours and 30 minutes in a snow storm.  How fast was he driving?

a. 60 mph              c.  40 mph
b. 100 mph            d.  10 mph

	10. A regulation size boy’s basketball has a radius of 4.7 inches, what is the volume of this ball?  Leave your answer in terms of (.

a. 138.43( in³           c.  69.39( in³

b. 29.5( in³              d.  143.38( in³
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11. Find the scaling factor for the similar triangles.

a. 2

b. 14

c. 1.7

d. 3.8
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	12. Kay just purchased a section of land next to a railroad track that is triangular in shape.  She wants to build a fence around this property, how many feet of fencing materials will be needed?

a. 284 ft

b. 825,552 ft

c. 3,822 ft

d. 186 ft



	13. If the distance from Boise, ID to Reno, NV measures 25 cm on a map with a scale of 1cm = 15 miles, how many miles is it from Boise to Reno?

a. 15 miles

b. 250 miles

c. 750 miles

d. 375 miles


	14. A water slide at Roaring Springs is 80 feet long.  The pool at the bottom is 52 feet from the base of the service ladder.  How tall is the ladder?

a. 132 ft.

b. 52 ft.

c. 60.79 ft

d. 28.18 ft



	15. DeLila wants to build a similar storage unit to her neighbor’s unit.  She wants hers to be half as big on each side.  If the neighbor’s storage unit is 14 feet high, 10 feet long, and 12 feet wide, what will the volume of her storage unit be?

a. 36 cubic ft

b. 105 cubic ft

c. 168 cubic ft

d. 210 cubic ft


	16. What is the volume of a 12 oz can of soda?


a. 339.12 cm³

b. 72 cm³

c. 1356.48 cm³
d. 36 cm³


	17. Find the area of the given triangle.

a. 380 mm²

b. 170 mm²

c. 120 mm²

d. 190 mm²


	18.  Jerry bought a 2 liter bottle of Mountain Dew to go with the pizza.  How many milliliters of Mountain Dew is that?

a.  20 mL              c.  2000 mL
b.  200 mL            d.  20,000 mL


	19.  What type of triangle do you need to use the Pythagorean Theorem?

a. Obtuse                      c.  Acute
b. Equilateral                 d.  Right

	20.  The password for Sammie’s email account consists of five vowels (a, e, i, o, and u).  Each letter used only once.  How many 5-letter passwords are possible?

a. 120       b.  600         c.  720        d.  1140



	21. The length of the third hole at Columbia Pines golf course measures 547 yards.  How many miles is this?

a. 0.31 miles

b. .10 miles

c. 9.65 miles

d. 3.21 miles


	22. The speed limit in Nampa is 20 miles per hour unless otherwise posted.  How many feet per hour is this speed?

a.  1200 feet per hour

b.  264 feet per hour

c.  35200 feet per hour

d.  105,600 feet per hour



	23. The recipe for the punch that Keri made for her party called for 2 gallons of juice.  How many cups of juice is this?

a.  8 cups

b. 16 cups

c. 32 cups

d. 64 cups


	24. Tom is going to paint the walls of his living room. The dimensions of the living room are 22 feet by 26 feet by 9 feet. What is the surface area that is to be painted?

a. 1436 ft2
b. 5148 ft2
c. 864 ft 2
d. 57 ft2


	25. The width of a tennis court when playing doubles is 36 feet.  How many inches wide is the court?

a.  324 inches

b.  432 inches

c.  864 inches

d.  1296 inches


	26. The length of a tennis court is 78 feet.  What is the playing area for doubles tennis?

a.  1296 square feet

b.  2808 square feet

c.  6084 square feet

d.  35568 square feet


	27. Find the hypotenuse of the following right triangle.

a. 13 yd

b. 23 yd

c. 60 yd

d. 30 yd


	28. Find the area of the circle.

a. not enough information

b. 1962.5 mm²

c. 157 mm²

d. 7850 mm²



	29.  If you were asked to calculate the length of a football field, what unit of measure would you use?

a. feet

b. inches

c. yards
d. meters


	30.  What type of triangle is this?

a. Right                c.  Equilateral

b. Obtuse             d.  Scalene

                    [image: image5.emf]   




	31.  What quadrant is point A located within?

a. I           b. II            c. III          d. IV


	32. Ivan will be wearing a dunce cap in class.  The height of the cap is 12 inches and the radius is 6 inches.  What is the volume of the cap?

a.  1356 in³            c.  1356 in³

b.  113.04 in³         d.  452 in³

                       [image: image6.emf] 
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	33.  Find the area of this parallelogram

a. 96 in²

b. 18 in²

c. 68 in²

d. 72 in²


	34.  Which is an example of a regular polygon?

A.   
[image: image7.png]


                 C.   
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B.   
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       D.    [image: image10.png]





	35.  The scaling factor from the long line to the short line is 1:2.  What is the scaling factor from the short line to the long line?


a. 2:1

b. ½

c. 1 to 2

d. 1.5


	36.  Billie ordered 10 pizzas at a birthday party with 20 adults, and found this to be just the right amount.  Her mother’s anniversary party will have 100 guests.  How many pizzas should she order?

a.  25                   c.  50
b.  100                 d.  38


	37.  
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 are what type of angles?

[image: image13.emf]
a. Complementary angles    c.  Right angles
b. Supplementary angles    d.  Reflex angles


	38.  Find the value of x using the given diagram if the angles are supplementary

a. 106º

b. 103º

c. 90º

d. 51º




	39.  Solve the following proportion.
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a.  7        b.  -5        c.  28         d.  -9

	40.  Suppose that you are going to roll a 6-sided die and then flip a coin.  What is probability that you will get a “4” and a “head”?

a. ¼         b. 1/6        c. 1/12        d. 1/24

	41.  Find the range, mean, median, and mode.  {6, 5, 10, 4, 5, 3, 2}

a. Range = 10          c. Range = 8

   Mean = 35                 Mean = 35

   Median = 5               Median = 5

   Mode = 5                    Mode = 1
b. Range = 10            d. Range = 8

Mean = 5                    Mean = 5

Median = 5                  Median = 5

Mode = 10                       Mode = 5

	42.  Find the range, mean, median, and mode.  

        {2.1, -1, 2
[image: image16.wmf]2
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, -3
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, 5, 0, 7.8, 0}

a. Range = 11.1          c. Range = 4.6
   Mean = 1.7                 Mean = 1.9
   Median = 1.1               Median = 1.1
   Mode = 0                    Mode = 0

b. Range = 4.6            d. Range = 11.1
Mean = 1.9                    Mean = 1.9
Median = 2.3                  Median = 2.3
Mode = 2                       Mode = 0


	43.  30 is what % of 15?

a. 
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      b.  50%        c.  200%    d.  2%

	44.  40 is 50% of what number?

a. 20    b. 
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      c.  200       d.  80


	45.  Complete the table using this function:
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a.  -1, 0, 1             c.  -5, -2, 1

b.  2, 3, 4              d.  -2, -1, 0
	46.  .  Complete the table using this function:
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	47.  What is the probability of rolling a number less than five on one toss of a six-sided die?

a.  
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	48.  What is the probability of randomly drawing a queen out of standard deck of 52 cards?

a. 13       b.  
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	49.  Express 8.023901 * 104  in standard notation.

a.  8.023901              c.  80239010000
b.  0.0008023901       d.  80239.01

	50.  Express 0.007841200  in scientific notation.

a.  78412 * 10-7       c.  7.8412 * 103
b.  7.8412 * 10-3      d.  78.412 * 104


	51.  Write in simplest form.  
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	52.  Write as a mixed number.  
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a. 4
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	53.  Solve.  83 * 84 
a.  812      b.  24 * 32      c.  87       d.  167
	54.  Solve 
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	55.  What is the slope of the following equation?
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	56.  Which pair of equations are parallel?
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	57.  Evaluate 
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a. -64       b. 0.64        c.  
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	58.  Evaluate 
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	59.  Estimate 13% of 72

a. 5           b. 9             c. 13          d. 25


	60.  Estimate 19 as a percent of 80.

a. 20%       b. 25%       c. 400%       d. 19%


	61.  Which equation correctly represents the formula to solve the following problem?

The cost of a movie ticket is $4.00.  The total came to $24.00.  How many people went to the show?

a.
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	62.  Which equation correctly represents the formula to solve the following problem?

Megan is 6 years older than Mandy.  The sum of their ages is 38 years.  How old is Mandy?

a.
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	63.  Evaluate.  
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a.  -38              b.  -45
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c.  38               d.  -3.071428571

	64.  Evaluate.  
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a.  59.5       b.  -198       c.  38      d.  198
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What is the median of the data?

a.  20          b.  14          c.  12          d. 8.5
	66.  [image: image80.jpg]—
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Above what value is three quarters of the data?
a.  20          b.  14          c.  12          d. 8.5


	67.  Evaluate.
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a.  3           b.  -33          c.  45          d. -9
	68.  Evaluate.
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a.  -1           b.  1          c.  47          d. 35



	69.  A $30.00 pair of jeans is discounted 20%.  If sales tax is 5%, what will be the final price of the jeans?

a.  $25.20             c.  $24.00

b.  $22.80             d.  $28.35
	70.  A $20.00 backpack is discounted 30%.  A $40.00 pair of shoes is discounted 50%.  If sales tax is 6%, what will be the total price of the backpack and shoes combined?

a.  $14.00             c.  $36.04

b.  $20.00             d.  $46.64



	71.  What is the GCF of 28 and 42?

a.  2         b.  7          c.  14         d.  28

	72.  What is the GCF of 192 and 256?

a.  16        b.  32        c.  64         d.  72




	73.  Price of Corn versus Quantity Demanded
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Which of the following statements is true?

a) There is no significant trend in quantity demanded as price increases

b) There is a significant trend in quantity demanded as price decreases

c) Approximately 55 bushels of corn are demanded per day when the price is $1.00

d) Approximately 20 bushels of corn are demanded per week when the price is $4.00


	74.  Enrollment in Courses at Union University
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Order the courses by enrollment from highest to lowest.

a) Econ, Poly Sci, Psych, Chem, Physics

b) Physicis, Chem, Psych, Poly Sci, Econ
c) Physics, Econ, Poly Sci, Chem, Psych
d)  Econ, Poly Sci, Psych, Physics, Chem


	75.  Which set of coordinates correspond to point D?

a.  (2, -5)
b.  (-2, 5)
c.  (-5, 2)
d.  (5, -2)


	76.  What quadrant is point A located within?

a.  I

b.  II

c.  III

d.  IV


	77.  Interest Formula:
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 EMBED Equation.3  [image: image88.wmf]
How much interest is earned in 2 years at $200 in a 
bank account at an interest rate of 6%?

a.  $6      b.  $24      c.  $12      d.  $2.40

	78.  Interest Formula:
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How much interest is earned in 
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 years on $500 in a bank account at an interest rate of 3.25%?

a.  $325             c.  $556.88

b.  $56.88          d.  $5688


	79.  What is the solution to the following system of equations?


[image: image91.wmf]1

+

=

x

y

 and 
[image: image92.wmf]1

2

-

=

x

y


a.  (3,2)          c.  (2,3)
b.  None          d.  (0,5)


	80.  What is the solution to the following system of equations?
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a.  (1,-2)                       c.  (2,-1)
b.  Infinitely many          d.  (0,0)
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